EARAROBREBRT —5 XN—ZXBISH—F

2022465838 (X)) 3EEH4E

MW C3= YS5%4mL BRI
[AE%) 1 &:500,000  ~ 237#&:200,000  337%&:125,000H  43#%&:75,000H 53 :50,000 ™
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
N ~ AAE :36. -8-1- . - HERS (EH)
115|594 7F~OY 5 | 128 1(3_6)3 8-8-1-1 [ 40.8 2 :1571) BEER
RZAEILN=T B:vIhYEAL—Y KT 7— L
S o) 9 =T :36. -4-4- . - REHE (FhR)
oWl 4| DVFA BRIV 'R 1?58 ra 2 ’ 3_723) i
RNV vH—)U B:IHAIY peldie]
~,3 s s 7 | NEEF 1:37.2 3-3-2-2 |41.8]| - 4 | 454 |TEEER (EH)
318110 TVITILT7ARIL 54.0 2172 e =) F PN MES
RIALNTRY IR B:I—dJ—HU7— Fabal ]
~ H o6 | SHEX 1:37.6 6-6-8-7 | 41.4| — 10 | 45 |=EEZ (EH
42| VTN 5.0 2172 L) | W) Jr—zhevay
R:Te IRy~ BiAAFTH YRS LW 7— L
"y =y 4 | KLUBEXER 1:37.7 -4-5- 21| - ENEE (k)
5lglg | AXHIS5—a 4| 25% o T Pl o
RIN=YISA B:OA¥ILIU— #HET7—L
A s o4 | WIS 1:37.7 2-2-2-2 | 4.4 - 5 | 474 |HFEF (EH)
6177 cr—trxwvO 56.0 &8 o TR
R:7AIVNDITPFHH— B:h—EYFFa3IIL BREME IRTAT7—LA
° st 4 | WHEX 1:37.9 10-9-7-8 |41.7| - 7 | 432 |ESHES EH
7 6 FTFINERR 54.0 (3/4) 1) | HR=ES
RE-UR B:HRISF TARRI v Rt
_ Sehi—E . —0-0- — BFHEAR (FEk)
8 3| #75 hyFNO— o6 = 1.(318).1 9-9-9-9 | 41.5 6 ig? RAEE
RIXUYNWIIATT BRANAT=— FRERS
_ s 7 | PHEL 1:38.1 7-6-6-6 | 42.2| — 9 | 404 |TEE (FEH)
9|7/ 8| EAD—A 54.0 F53) 6 | @ Ir—2REVaY
RiW—5—yvF BERA—bO-Y /=3I r—1L
= oy — 6 | ENEBEH 2:02.9 1-1-10-10 | 66.0 | — 1 492 | BEFKRE (BB
100111 3/ND 56.0 (94) +6) TR
RIN—ANR B:UAYRFTID— ZVHYIF—L
@ 11— —BERIEI
13—7F— 1,7,10,4,9,2,8,5,3,6
20— — 1,7,10,(4,9),(2,8),5, (3,6)
BEIES /S 5,(7,10),4,9,8,6,2,3,1
4A0—F— 5,(7,10),4,9,8,2,6,3,1
o ILRE
BB 5 410 JA R 4-5 290 & 4-5 7708 3ER 4-5-10 1,210
B B 5 1604 5-10 430/ 5 & 4-5 800M4 3Es 5-4-10 7,130
4 160/ 4-10 410 oS- 1 5-4 1,550
10 180M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




